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General Instructions: -

. This question paper consists of 38 questions, which are divided into

four sections: A,B,C,D.

. All the questions are compulsory.

. Section A includes questions from serial number 01 to 20, all questions

are of 1 mark each.




4. Question no 21 to 29 of Section B consists of nine very short answer

type questions. The answer to each question may be given in about 30

words. Each question carries 2 marks.

5. Question no 30 to 35 of Section C consists of six short answer type

questions. The answer to each question may be given in about 80

words. Each question carries 4 marks.

6. Question no 36 to 38 of Section D consists of three long answer type
questions. The answer to each question may be given in about 200

words. Each question carries 6 marks. Question no 36 will be answered

with the help of given passage.
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W - 1
PART-A
1 | AR 3T afFderd enfaat vaen arefas qEr & &g SRt 3R g
Pl 3SR A H FASE, hY TohdlT & | 3Fd HUT fhaHpr g ?
(37) Y. TS e
(&) HeFF AR
@) gfaa
(@) UsH EAY
Sociology can help you uncover links and connections between your personal
problems and social issues. Whose statement is this?
(a) C. Wright Mills
(b) Max Weber
(c) Durkheim
(d) Adam Smith
2 | FrRNe 9O H HHAR W A8 3 F97 hl AMAe o Srar g 2

(31 15-60
() 15-65
() 15-64
(@) 15-62
Which age group is generally included in the working class?
(a)15-60
(b) 15-65
(c)15-64
(d) 15 -62




PITHT FAINOTAT & ecddTd AT & HTHTToTR A & aR H SATThRT ThiId et
1 9T TR 31T 2

(37) 1921

(&) 1901

(@) 2011

(@) 1881

Under which census was an attempt made to collect information about the social
hierarchy of castes?

(a) 1921

(b) 1901

(c) 2011

(d) 1881

FATRIERI T SfeheT cawer ford oX e o 2

(37) &

(&) ot

(®) ad

(@) S

On what was the banking system of Nakarattaro based?
(a) religion

(b) character

(c) class
(d) caste

1A FATEA Yol I diet FGT & 3, TEq e g ATATSS Yol & &9 A fohder
fasnfara femar 2

(37) HFF X

(@) vsH TRy

(@) frex Ay

(a) ATeyH

Who divided social resource capital into three forms: economic, cultural & social
capital?

(a) Max Weber

(b) Adam Smith

(c) Peter Bourdieu
(d) Malthus

TS @1 /AR A STAEEAT & GIAAT (2011-2012) & HFAR AHOT AR H
fhdeY TUF A FeT Ui safFd Ui A8 I FHtey arer TNt i Soft & I@rarr g 2
(37) 816
() 1000
(&) 2000

(c) 916

According to the percentage of population below the poverty line (2011-2012),
people who spend less than how many rupees per person per month in rural India
are classified as poor?

(a) 816

(b) 1000

(c) 2000

(d) 916




AT 1T STy el S sl wgahR, fAeed), B sHier 3R 3 anfe &
forT fong ereg T YT X & 2

(37) STaTATT

CIIECEN

(9) Tshledr

(@) HAT

Which word did the tribal people use for outsiders like traders, moneylenders,
missionaries, Hindu landlords and British etc.?

(a) Jajman

(b) Dikus

(c) Aggressor

(d) Kamin

1956 3 T YoAdTaed 3MANT o fFE YR W R &M AT TR0 N e FHl
gaTer fgar ?

(37) SIid

@) g7

(@) FiERfids

(@) TR

On what basis did the State Reorganization Commission give the order to prepare
a new map of India in 19567

(a) caste

(b) religion

(c) cultural

(d) linguistic

AT ol TR TATATH el oI 3T ?
(31) 15 ST 2005

(&) 13 37arcaX 2005
(H) 26 S=Ta<r 2005
() 13 f&d#sT 2005

When did the Right to Information Act come into force?
(a) 15 June 2005

(b) 13 October 2005

(c) 26 January 2005

(d) 13 September 2005

10

YT Tl N -
SE T TATEIT FAT HiSeT ¢ o TRATIT LT T g |

Correct the statement -
Nation is difficult to explain but easy to define.

1"

HIEDG, ... T H 3791 o1, Tl 7 Segfd o e T@a &1 AR
g7

In Article............ and............ we have the right to maintain our language, script
and culture.

12

TSERT THIHIUT H T ¢ ?

Is it an obstacle to national integration?

13

Teh 2T T GER 2T TR QMHA ..o FEATaT |
The rule of one country over another country is called...............




14

3fAFYT (31) HafAafNs TEHR Terd alhT & AT T AT e AT |

HROT () 3w TXHR ATyl & Ty T Faemsil 1 Q&A1 @ AT |
(37) T T T SIAT T & F, 37 T TET SATCAT FAT &

(§) 3 T F Sl TcT ¢ &, 37 T TeT ATEIT 76T Xl ¢

(@) A AT T3 ET L

(@) F T aA 3T E

Assertion (A) The colonial government used to recruit laborers through unfair
means.

Reason (b) The colonial government took full care of the health and facilities of
the workers.

(a) Both A and B are true and B is the correct explanation of A.
(b) Both A and B are true but B does not explain A correctly.
(c)Ais true B is false

(d) Both A and B are false

15

16

3ifRwe (37) eRA Hifa o TATST A NS0T Y Forar f&2r |

FROT (F) 37T S &TAT H FAAGI T AT & HROT FSIGI T HTIT T 3eTehl HIGLr # &
ST g3 |

(371) T T T Sl HcT ¢ &, 37 T HET STTEAT AT &

() 37 T T QAT TT & &, 37 T TEY ITET 7ET AT &

(@) I TITL T IR

GEEEAC I

Assertion (A) Green Revolution promoted differentiation in the society.

Reason (b) Due to demand for laborers in many other sectors, demand for
laborers and their wages also increased.

(a) Both A and B are true and B is the correct explanation of A.
(b) Both A and B are true but B does not explain A correctly.
(c)Ais true B is false

(d) Both A and B are false

17

g fag=d ST AFaR AT O dd 3ce<l 8IdT & 5Id Slg AT THg I
HAEHH AT ¢ foh g I & W19l § T glelld & g

The theory according to which social conflict arises when a social group feels that
it is in a worse situation than the people around it.

18

o fardTeT 3Mealels 1970 H HITd T2l 7 TR 37 ?
E)REIE]

(&) gR=mom

() afFerrg

(@) 3aH

In which states did the new farmers movement start in 19707
(a) Punjab

(b) Haryana

(c) Tamil Nadu

(D)Aand C




19

mﬁmﬁmwmmm%?
(37) ggelr

(&) &
@) atar

(&) grar

Which pillar of democracy is media called?
(a) first

(b) second

(c) fourth

(d) fifth

20

ter gfsar AT (3epreraroft) dr AT Fe g3 ?
(37) 1936
() 1947
(&) 1946

(&) 1957

When was All India Radio (Akashvani) established?
(a) 1936
(b) 1947
(c) 1946
(d) 1957

T - 2
PART-B

21

STAATTEIRIT STHTRT FT § ?
What is demographic dividend?
AYar

STAGEIT T ITAEATTT T F T drcaT § ?

What is meant by replacement level of population?

22

Sfa P g & 2

What is caste?

STeTollfd fFd Fgd & ?
What is called tribe?

23

aol a1 § ?
What is Varna?

24

e fafaear @ 39 Fa1 @F7sd ¢ ?

What do you understand by cultural diversity?
SREN
giEgias fafawar & #1$ o gAfdar gasd |

Mention any two challenges of cultural diversity.

25

TIATcHS IR ¥ 3T FIT FHSIA § ?

What do you understand by structural change?

26

HRAT A@fersT @ 319 FA7T FASS § ?
What do you understand by Indian Constitution?
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27 2
What is called farming society?

28 | IAEAR ¥ FAT AU § ? 2
What is meant by mass communication?

29 | AT 9Rade 3R IEfas eaieled & IS Th el TS HITT | 2
Explain any one difference between social change and social movement.

HART -3
PART-C

30 | oNfd sgaear & 31T HI$ AR FHSCNT IRl P FASSY | 1+1+

Explain any four contemporary changes in the caste system. 1+1
3yar

Sfa & g 7@ IR VAT gasd|

Mention any four main characteristics of caste.

31 | ¥RA # HFASUT T 3ERT & FHAE s IR THEG dsd| 1+1+
Mention any four main effects of globalization and liberalization in India. 1+1

32 | GERIAEROT FAT § ? FERIAAIOT I HTURUT SN HTeAldellcHS & | 1+3
What is Sanskritisation? Critically explain the concept of Sanskritisation.

33 | GaIfed I 3iuaiie &1 vae rEafed A1 3TaRe &7 # AR JdsY | 141+
Explain the difference between organized or formal sector and unorganized or 1+1
informal sector.

HAYdar
T & SR & FHEsy - 2+2
1. 3heefieTor
2. FHSAOT
Explain about the following —
1. Industrialization
2. Globalization

34 | ST & FIs IR FHT TaIT H TASESY | 1+1+
Briefly explain any four effects of globalization. 1+1

35 | TRV 3feclels 9 e 3R ugae & HE A o Wy e Teld 4

Tgse Hifor|

Environmental movements often also carry economic and identity issues. Please
Explain.

AT - 4
PART — D




36

A QU 91T Iepede i ufed AR eafaf@d geat & 3car §ifSw-

FAGEIT AT Jig I T FNOT-INUT & HHYA! & AATEAT H gled dTell Jig
T @ Fel I W{A §, FEET AHE A geA FOUH g dqHr g1
Saaedr 1 gig @ i fFar Sel gaeaer, Agsar & el Saaer &6
TITOqdS e & Teh AT &A7ar & g g1 (FHAA el ganr sia s
S 37 H TG He A1 AT FIF @R IYAT FEAIE F dTeled R gu
Wi gew & oo Y fFv Sv| Atemw &1 faeam o1 R e 3R
ARt & ¥ & Jaedr g F sk & IHiae g 3EaT ga &)
Fifr I § Wed YT AR decdl gs TATEAT & &1 A B Adhod &
Wi 3T g1 3GRAd 3R AGEd fRfeasi F Aeyd & 36 A &
JTelaaAT &1, fof I T SRUT AAGEAT gig g1 3Telrael &l shgel a1
I NP FOYAT & FTATT AROT & FROT 8T 2

A TG H IUeTRd BIET 3G & FIIT I IR S ggeprd g Srdr
gl 38 sRd & fou onHer AW ST g Uoe e A& g e
degeaTat fr g 3R IS & IReis H R Tg TAST AT foh ART i
ol 'STATETRIT FTHI T Bl el QT g1 TE AT 37 d2T & HRUT &l
W@l 81 & wrieler el @ adAeT dér 3rdeTRd 991 g1 Td 38 gg el dr
3T O N FT IROTAYOT FIAT TST T &1 AfheT Tg AMH I 3T
Ao aren A8 8 dfew sHe v 3ugera Afaal &1 Ara-HASIT drefed HEm
gl

1. 3 AT & FIT de9d 82
2. FEEA H gig I FAIRAT e & T AeYT A Ha T FHA R

UTehfaeh fRTer e 82
3. 3ERaA R AT feas o Aeyd i EEer FE YR )
& |

Read the passage given below and answer the following questions:-

The rate of growth of population is always ahead of the rate of growth of
population of resources of subsistence, hence there is only one way to increase
prosperity. That population growth should be controlled. Unfortunately, humans
have only a limited ability to voluntarily reduce their population. (By artificial
constraints such as limiting the number of children to be produced by marrying at
an older age or by maintaining sexual abstinence or practicing celibacy.) Malyas
believed that natural checks on population growth in the form of famines and
diseases were necessary. Because they are the only natural way to prevent the
imbalance between food supply and increasing population. Liberal and Marxist
scholars criticized Malthus's idea that poverty is caused by population growth.
Critics say it is instead caused by unequal distribution of economic resources.

The inclination that is found in the age structure towards relatively
younger age groups. It is considered beneficial for India. Like the East Asian
economies in the last decade and like Ireland today, India too was considered to
be benefiting from the 'demographic dividend'. This dividend is being received
due to this fact. That the present generation of working people is relatively large.
And he has had to support a relatively small generation of elderly people. But this
benefit is not going to come automatically but for this, appropriate policies will
have to be followed thoughtfully.

1. What is meant by age stri
hich artifici




37 | foier 3menRa fgera Jfaes & a1 arfored | 3eeor afed THssY | 4+2
AYdar
A 3+3
1. Godlel 31H
2. T 89 erelt
Is gender based discrimination biological or social ? Explain with examples.
Make a comment - o
1. Sultana Dream
2. Stri Purush Tulana
38 | Alprdife Aheganior T § ? GATIdT Tt T AT YUl &7 guTe 1 | 2+4
3rydar
TS IRadeT 31 TaRIe Tt 1 S{fReT 7 quie AT | 6

What is democratic decentralization? Describe the three-tier system of
Panchayati Raj.

Or
Describe the role of Panchayati Raj in social change.




